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ECONOMICS

( Honours )

Paper : ECO-HC-5016
( Indian Economy—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following : 1x10=10
&S fwacar e R corel web Teq faan

(a) What is the density of population in
India according to 2011 Census?

03 TR CIPEE SPid Sleey SPRYN
g 12

(b) Define sex ratio.
feigsl Speireq et fa |

(c) Which age structure is important for
demographic dividend?
GOINGS SN FIRCA (IO IR Mol
AT W ?
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(d) Which neighbouring country of India
has the lowest unemployment rate?

SRS TR (7 (FI-R 7t 29 wibizece
4N 2

(e} What is human capital?
TR YA 2
() Write one limitation of new industrial

policy.
oA SriiAe NS Qo1 MRrme! {11 |

(g9 Mention one factor responsible to
increase savings and investment in
India.

sRes Ay wF R 3= @ar bl Ie
Ty 91

(h) Give one characteristic of India’s age
composition.

WWWWW@W%W

() What is the MRTP Act?
MRTP 934 $ 2

() Mention one health care scheme
inroduced in India.

SRS A4S 91 FYCHEI S5 oR N BCEY
47 |
(k) Write one important structural change

arising out of economic development in
India.

SRee ST Taae wdl AEoS A 9ol
BFLY| RTINS RIS o7 |
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() Mention one factor responsible for
regional disparity in India.

SRS FEGF TN oelide I B IS
TEd 91 |

(m) Which sector contributes maximum to
the GDP of India?

TREY Y5 TGl SAALA (IOl 16 RS
SRR G ?

(n) Write one factor responsible for the
environmental degradation in India.

TROS ARG IIASF Aol 91 Gbl ISP
feram

(o) What is relative poverty?
it wliger 2

(r) Write one important measure to stop
natural growth rate of population.

G ATPIoP I YT I7 IR 9Bl A

-

foram 1

(@9 Give one demographic feature of
Vietnam.
fSTapINR Wb soIfgs (Igs forar |

(r) Mention one criticism of economic
reforms.

GG IR 96! AN S 541 |
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2. Answer any five from the following : 2x5=10
were AR R @A #Aivbr Tws fuan .

(a) What is NITI Aayog?
NITI Aayog &7

(b) Define sustainable development.
TSI AT Al |

(c) What is poverty line?
wifdw e 2

(d) Write the components of human
development index.

TR S FBIFY SAMACI ol |

(e) Mention two reasons of educated
unemployment in India.

SReq s RIgErR 1o T a9 |

(/f/ Point out two important causes
responsible for increasing inequality in

India.
SRed e e geiRe ¥4 qol 3Fgelf
IRV SCEY 0|

(99 What is meant about the rural-urban
population composition in India?

SO AT-RR WPRYR M e
N7

(h) Mention two schemes for elementary
education in India.

oRed A1 FreR 73 S SeEy 391 |
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() What are the initiatives recently taken
by government to enhance skill among
workers?

AT we wHel Jfa IR I A
S BIPRA CETR1 SorpTyR & 3 2

() Why were economic reforms introduced
in India?

SRS HAET AZR [0 a6 91 e 2

3. Answer any four from the following : 5x4=20
- wete IR R @rean vifbr Tes fam
(a) What are the major demographic issues
in India?

SReY @FYY GTOGE TR & 52

(b) Write a note on malnutrition in rural
areas of India.
SRS A1) H¥] Sfe] eoq@ qfb (G foran |

(c) Explain the nature of unemployment
problem in India.

SRS RN TP 2l ey 3¢ 4 |

(d) Explain the relationship between
population growth and economic
development in the context of Indian

economy.
SO WA WMYRS TR I@m WE
Ao SHHEE WET FA=ECO! Ifq1 47 |
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(e) Discuss briefly the poverty alleviation
programme introduced in India during
the planning period. |
HARTTAR IFCIA© SROS ATSH I 7Tl

HRAPAT STOPTRA [RECH 50 391 341 |

(/ What are the main features of the
" Mahatma Gandhi National Rural
Employment Guarantee Act (MGNREGA)?

T SR WO AN IR ARG HiZA
(MGNREGA) ¥ 35 (IRFgpR o 2

(g) Explain the role of institution towards
attaining economic development of a
country like India.

SReR a1 orre ST SIS IR
ST PN 49T 4

(h) Briefly discuss the new education policy

introduced in India.

SRS 2Req 4 Tpa PreAifes R sy

HICeATAN] 41 |
4. Answer any four questions from the
following : 10x4=40
wers IR R @ wiikeR Tee o«

(a) What is demographic dividend? Discuss
the problems faced by India to realize
the demographic dividend.

Tolge Ao 7 wolgs oiyT BT
e FRIAT SROIR FIA @A FATIER
HCATEAT 41 |
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(b) Discuss the main features of Indian
economy at the time of Independence.

FATOR RS SROE WS Jo1 HEPTR
SICATA 4T |

(c) Explain the current state of primary
health facilities in India.

SReY T T R ISA SLRICH! I
4T |

(d) Describe the trend of poverty in India in
the Post-Reform Period.

e ER PR o[ ©Red WlRkw 2o’
R 3dar 341 |

(/) Give an assessment of Indian
population in terms of quality.

w@awaﬂm@wﬁuﬁvaﬁwﬁ
341 |

() Explain the causes and consequences of
‘unemployment problem in India.

SR Rl TEIR IRV WE FeAFed [
31 41 |

(g) Discuss the growth of Indian economy
during the Reform Period.

i HFRY TIACRIS SR wAfeq [Fare
R =eee F40 | '
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(h) What was the Great Leap Forward
programme? Explain the impact of
Great Leap Forward programme on
Chinese economy.

WEE S ool s wifRe 7 B
GAfoS T FANRA FHCFOd SO AR
3 3 41

(i) What were the major structural changes
that were brought about by the
liberalization of the Indian economy in
the 1990s?

YO0 WY SRl WAy THRIFII Tl
T51 S FIICHS AfRSTR & 72

() Give a comparative study of India,
China and Pakistan with respect to
sectorwise contribution to GDP and
human development index value.

o T BRAMCS CRAfSfed SRR o Mo
g I TRACS OIS, B W AT
TS BT QEANNETE TG IS 47 |
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